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QUESTION 1

Which of the following is a key benefit to customers who deploy zEnterprise compared to other solutions?
A. A hypervisor infrastructure that allows movement of an application online between different architectures
B. A hypervisor and hardware management across multiple platforms.

C. A management solution that provides support across multiple x86 hypervisors.

D. A management solution for the complete mulit-vendor infrastructure within a datacenter.

Correct Answer: B

QUESTION 2

A System z technical specialist is configuring an MES upgrade of a zZ10EC to a z196. The MRREPORT does not
properly reflect the latest z10 configuration since a few cards were swapped recently. This needs to be corrected for a
TDA in two weeks.

Which of the following actions address this situation?

A. Run eConfig

B. Transmit the VPD to the IBM manufacturing plant

C. Ignore the removed cards and proceed with the configuration

D. Manually edit the MRREPORT to account for the changes

Correct Answer: B

QUESTION 3

A customer has a Power with AIX server farm with network connectivity to a zEnterprise processor. Which of the
following would represent a potential zBX opportunity for this customer?

A. The customer wants to accelerate certain DB2 on zEnterprise queries.
B. The customer wants to accelerate their DB2 on Power with AIX.
C. The customer wants a stand-alone zBX with Power blades to free up floor space.

D. The customer wants to move Linux virtual machines from the zEnterprise to a zBX so that the Linux applications can
be closer to a Smart

Correct Answer: A



QUESTION 4

A System z technical specialist is designing a z196 solution. Which of the following may be selected using eConfig?
A. Select the total amount of user memory and the number and type of 1/0 ports

B. Select the number and type of I1/O cages and I/O drawers

C. Manually assign the PCHIDs and CHPIDs

D. Select how much memory to put on each book for multi-book processors.

Correct Answer: A

QUESTION 5
Which of the following customer environments would be the fit for the placement of a zZBX?

A. Customers with a large Intel environment that are running a mix of old and new servers running a mixture of Windows
operating systems releases

B. Customers already running a IBM System Analytics solution on POWER.

C. A customer that is running a legacy application in a multi-tier environment where the database is running on System
z and the application servers are running on HP servers running a current Linux release.

D. A customer that is already running an X150 DataPower solution and wants to relocate their X150 blades over into a
zBX to take advantages of the Unified Resource Manager Qualities of Service.

Correct Answer: C

QUESTION 6

A System z customer is planning to move their data center with several existing System z servers to a new space
without a raised floor. Which of the following requirements should the technical specialist discuss with the customer?

A. Ordering the height reduction feature if needed

B. Top Exit Cabling Option is required for all the CPCs

C. Confirm all the System z servers are z9 BC, z10 BC or z114

D. Confirm the new installation is compliant with the Installation Manual for Physical Plugging

Correct Answer: C



QUESTION 7

A customer is planning an upgrade to a z114. They have indicated that they will be adding additional disk storage in the
future and want to make sure they have room for non disruptive future 1/0 growth. Which of the following is the
appropriate first action for the Technical Specialist?

A. Use the eConfig Plan Ahead feature to place an order for an additional 1/O drawer but don order any cards until they
need them.

B. Ask the sales specialist to give the customer a discount and order the cards at the end of the quarter

C. Carefully plan out the upgrade based upon the current I/O configuration. Confirm there is enough room to support
and add a future 1/O drawer if needed.

D. The z114 hardware model M10 has more I/O adapters so you should order the M10 model which will assure you
have room for future growth.

Correct Answer: C

QUESTION 8

What is a differentiator of the System z compared to other hardware platforms?
A. System z utilizes faster memory to accelerate application execution.

B. System z utilizes SAP for offloading I/Os from standard processors.

C. System z platform provides spare processors to improve availability.

D. System z is the only platform that exploits memory protection technologies.

Correct Answer: B

QUESTION 9

A customer is looking for a solution that delivers a workload management across the platforms that run his core
application. Additionally he is interested in a continuous availability solution that controls all components of the
application independent of the platform that is used for the deployment.

Which of the following makes zEnterprise the best match to those requirements?

A. The new Infiniband coupling link of z196 offer the opportunity to interconnect all platforms. The Unified Resource
Manager delivers a central tool to control all events.

B. z/OS offers with Parallel Sysplex and WLM a best of breed solution. For the distributed part Tivoli System Automation



for Multi Platforms (TSAMP) delivers the required functionality.

C. The combination of Unified Resource Manager, GDPS and TSAMP meets all requirements without changes to the
applications.

D. The customer can consolidate all application parts either on z/OS or on Linux on System z to meet the requirements.

Correct Answer: C

QUESTION 10

A presales TDA meeting is in review process the Technical Specialist finds a problem with the configuration. The
incorrect power cord on the z196 was ordered. The machine order was placed and has a Plant Order Number in the
system. Which of the following is the correct action to resolve problem?

A. Reschedule the presales TDA

B. Resolve with the customer at the planning meeting

C. Request the customer change the power supply

D. Advise the sales specialist to alter the order to correct the power cord

Correct Answer: D

QUESTION 11

Which of the following tools provides a financial analysis for a distributed server consolidation on System z opportunity
at no cost to the customer?

A. BVWA
B. RACEv
C. SCON
D. PRA

Correct Answer: B

QUESTION 12

A customer is migrating to z114 and z/VM V6.1. The existing z9 BC will be used as cold standby system in a separate
datacenter. Which of the following is correct?



A. In order to run all guests on the z9 BC both, z9 BC and z114, have to run z/VM V6.1
B. The latest version of z/\VM supported on z9 BC is z/VM V5.4. However the guests stay compatible.
C. In order to keep z/VM guests both systems (z114 and z9 BC) need to run z/VM V5.4,

D. The customer has to run z/VM V6.1 as a second level guest on the z9 BC z/VM V5.4The customer has to run z/VM
V6.1 as a second level guest on the z9 BC? z/VM V5.4

Correct Answer: B
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